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3. Germany: The development of dictatorship 1918-45
a) Study Extract C.

[image: A close-up of a text

AI-generated content may be incorrect.]

What impression does the author give about the July Bomb Plot (1944)?

You must use Extract C to explain your answer.
(6 marks)

[bookmark: OLE_LINK5]b) Explain two effects of hyperinflation on Germany.

(8 marks)



















EITHER

c. i)
'The main reason for Germany's recovery, in the years 1924–29, was the Dawes Plan.'

How far do you agree? Explain your answer.

[image: A close up of a question

AI-generated content may be incorrect.]

(16 marks)

OR


c.ii)

[bookmark: OLE_LINK9]'The most significant method of control used by the Nazis in Germany, in the years 1933–39, was censorship.'
How far do you agree? Explain your answer.
[image: A white background with black text

AI-generated content may be incorrect.] 
(16 marks)

(Total for Question 3 = 30 marks)





6. A world divided: superpower relations, 1943-72
[bookmark: OLE_LINK6]Study Extract F. 
[image: A white text with black text

AI-generated content may be incorrect.]
a) What impression does the author give about the reason for the start of the Cold War. 

You must use Extract F to explain your answer. 
(6 marks)

b) Explain two effects of the U2 incident (1960) on relations between the US and USSR.

(8 marks)


















EITHER 

c.i) 

'The most significant development in the Cold War, in the years 1947–49, was the Truman Doctrine.'

How far do you agree? 

[image: A screenshot of a question

AI-generated content may be incorrect.]
·  (16 marks)

OR
c. ii) 

'The SALT 1 Treaty was the main consequence of the thaw in superpower relations in the years 1963–72.'
How far do you agree? Explain your answer.

[image: A screenshot of a computer

AI-generated content may be incorrect.](16 marks)

(Total for Question 6 = 30 marks)
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image4.jpeg
Extract F: From Europe 1870-1991, published in 2000.

An important cause of the Cold War was the way in which communist control
developed in Eastern Europe. To many this was evidence that Stalin had broken the
agreements he had made at Yalta to establish free and democratic governments in
countries like Poland. Although Eastern Europe had been ‘liberated’ by the Soviet
Army, it did not have a strong tradition of support for communism. The Soviet Union
removed, as reparations, the little industry that remained in Eastern Europe after the
Second World War. Finally, countries like Latvia, Lithuania and Estonia were taken over
permanently by the USSR.
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You may use the following in your answer:
« theTruman Doctrine (1947)
« the Berlin Crisis (1948-49).

You must also use information of your own.
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You may use the following in your answer:

- the SALT 1 Treaty (1972)
- the Nuclear Non-proliferation Treaty (1968).

You must also use information of your own.
_
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Extract C: From A History of Germany published in 2000.

The bomb plot of July 1944 failed because of a series of factors. The wooden building
in which the bomb exploded surprisingly limited the impact of the explosion. During
the briefing the bomb was unluckily moved away from where Hitler was. Hitler was
partly shielded from the impact of the blast by the leg of an oak table. Also, the
conspirators were unable to communicate successfully with each other. The failure of
the July bomb plot showed the difficulties of trying to overthrow the regime.
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You may use the following in your answer:

+ the Dawes Plan (1924)
- Germany's membership of the League of Nations (1926).

You must also use information of your own.
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You may use the following in your answer:

+ censorship
« police state.

You must also use information of your own.




